	                                                    Installation Instructions for EP301 Expansion Card 



Installation Instructions for EP301 Expansion Card 
· Product clarification

	EP301 card
	M3 screws

	
[image: image1.wmf]
	[image: image2.png]





· Parts specification

[image: image3.emf] 

(a)

(b) 

（

f

）

(a)

(a)

(a)

(a)

(a)

(a)

(c)

(c)

(d)

(e)


	No.
	Name 
	Description

	a
	Mounting hole
	Assemble the EP301 expansion card on the inverter with M3 screws

	b
	SPEED LED
	Indicates internet speed

	f
	LINK LED
	Indicates internet connection

	c
	Plastic handle
	For disassembling EP301 expansion card

	d
	RJ45


	Communication slot

	e
	Connector
	Connect with inverter


· Slot specification
[image: image4.png]



	Type
	Terminal number
	Name
	Description

	RJ45
	1
	Tx+
	+signal output

	
	2
	Tx-
	-signal output

	
	3
	RX+
	+signal input

	
	4
	---
	---

	
	5
	---
	---

	
	6
	RX-
	-signal input

	
	7
	---
	---

	
	8
	---
	---


Note：EP301 is only compatible with SA3 version V0.130 or higher

· Installation（SA3）

Step 1：Insert EP301 expansion card to SLOT 1 .DO NOT plug it in SLOT 2 or SLOT 3.

Step 2：Tighten the M3 screws with 4-6kgf.cm torque on the card as figure 2 shown.

Note：

1. For SA3–A frame inverters, remove the plastic part shown in figure 3, the result is shown in figure4.

2.When disassembling EP301,loosen the M3 screws first,then lift the plastic handle.

     
[image: image5.wmf]         
[image: image6.wmf]
Figure 1                                       Figure 2

[image: image7.wmf]     
[image: image8.wmf]                  Figure 3                                Figure 4

· Installation（SE3）

Step 1：Turn off the power.

Step 2：Open the top coverof the inverter.

Step 3：Use the front rear as support and slide (a) in by pressing down as figure 1 shown.。


[image: image9.wmf](a)

(c)

(b)

FIG. 1


Figure 1

Note: (a)-Optional Card Housing; (b)-Hook, (c)-Slot

Step 4: Line up the connector (c) and (d), and press down the EP301 expansion card to the right position.


[image: image10.wmf](b)

(c)

(d)

(a)

(e)


Figure 2

（a）(e)-Supporter, (b)-Plastic Handle, (c)-Male connector, (d)-Female connector

Step 5: Tighten two M3 screws with 4-6kgf.cm torque on the card. Install the cover after wiring. 

[image: image11.wmf]图三


Figure 3

· Other

(To improve our products, the parameters and contents may be modified, please contact the agent or refer to Shihlin websites

(http://automation.seec.com.tw/) to download the latest version.
[image: image12.png]



PAGE  
1

_1234567894.dwg

_1234567896.dwg

_1234567899.dwg

_1668853492.dwg
06207


_1234567897.dwg
1


_1234567895.dwg

_1234567892.vsd
(a)


(b) （f）


(c)


(c)


(a)


(d)


(e)


(a)


(a)


(a)


(a)


(a)



_1234567893.dwg

_1234567890.dwg

